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Fall 2017 N. Dietz
Solutions for HW # 5

(30 points)
Problem#=1: ( Jackson2.2)

The system is described by
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a) Using the method of images
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dregly —y)* 4reg (a® =) the force is attractive, to the right.

d) If the conductor were fixed at a different potential. or equuvalently if extra charge were put on
the conductor, then the potential would be
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and obvicusly the electric field i the sphere and mduced charge on the mnside of the sphere would
remaimn wnchanged.
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2) Jackson Problem 2.4 (see textbook chapter 2): (40 points)
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3) Using the method of images, (a) find the electric potential inside a grounded sphere due
to a dipole at the center of the sphere, and (b) find the surface charge density on the
sphere. (30 points)
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